1/N_, chh/de [GeV]

Ratio to ATLAS

=
o

=
fop

=
IN

=
N

=

0.8

0.6

0.4

0.2

[EEY

0.5

13000 GeV pp Z+Jet
— T T T T — 1 ' T T T T T 1 — 1 ]
: | '
il <pT> (ATLAS UE in Z production) — 3
N 1=
- m ATLAS ] 2
- O Herwig++ 2.7.1 default N
— -~ Herwig 7.2.1 default ] S!
— —— Pythia 8.308 default 7 ;
[ --¥-- Pythia 8.308 vincia-default WS
[ - Sherpa 2.2.9 default e
i — @
B — ™
- <
~ 1™
- S e
o
- 1M
B —
N 1.2
= %
N —.C.
- -
| — O
- <
- 45
& — n
— e
o
- -1 ©
— -
- —2
1
| a —0.5
? ' |
1 2 3



	Contents
	Page 1


